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Figure 1. Mean performance for each age group on Lumosity games grouped by cognitive domains, plotted for
three different levels of training (20, 60, and 100 gameplays).
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Performance gaps persist after equal training
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Figure 2. The probabilities of an older adult catching up to a younger adult after both have played a game 100

times.
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Figure 3. The probabilities of an older adult catching up to a younger adult on a game after the younger adult
has played 20 times and the older adult has played 100 times.
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